EAGRAROBREERT — 2 N— ABISH —F

2020182680 (H) 1E/)\&4H

ESEE IR

v >x4mt 1Bo5x 4 5% &R

[A&4) 1 % :7,600,000 @ ~ 23 :3,000,000 3 ~ 337#:1,900,000 ~ 4 3#%&:1,100,000 @ 5 7 :760,000 A
& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
o B4 | WEEH 1:50.5 7-8-6-5 |37.2| 91.6 | 1 482 | EHEF (ER)
182 | * rOKR—=IL 2520 (=) (o) |TENT1>
RBATATv— BT AIL Godolphin
. . FRER :50. -10-9- . . BT ER)
ol 11175171 7R it 4 b 1(/@;5 9-10-9-9 |36.7 | 91.3 | 10 (4_128) j\* z
L:b—t>y3—4> B:/—KRITSA4747 b e
3 2 B 5 | EEBZ 1:50.8 7-7-6-2 | 37.6| 89.0 | 6 452 | AIET (BR)
3 7 IT7ITT 55.0 (1 3/4) (-4) EaR-Ac3:|
LiN=—5—y T B:E447515— b PO b N
3 # 5 | BEEFLEH 1:50.9 6-5-4-4 |37.8| 8.2 | 7 408 | EEMFE (EH)
41810/ ®7 h3 7 754.0 (1/2) (o) |REL-Y>7
LW—=F—=29 T BFFINTAX 7975 TT—L4
RHE :51. -9-8- . . SHE— (ER)
sl7ls|7— 04 %I 4 4 s 1(15/12)0 9-9-8-5 |37.6| 87.1 | 11 zzg? edite)
RN—ErTv— BiAAHILTULLA HBE77— L4
S = B 4 | BEXET 1:51.6 3-3-3-5 [38.7| 82.5 | 3 396 | ERIERC (5Eim)
EH %) NIVx1—7+4 {52.0 (3 1/2) (-4) FRiaH
R:O—-KH+A7 B:5vF%x—LTF1 BEXKEE
5 it 4 | BEED 1:51.7 2-2-2-1 [38.9]81.8| 8 436 | FEE ()
715/5|%Y/2Y2VUT7 A51.0 (3/4) 4o | W 555
T4 >T7Tyva BYIICTITIR 777 Balis
5 s 4 | B 1:53.1 3-3-4-5 | 40.1| 71.3 | 4 472 | FHEX (E#)
8|7|9|¥>AAYXRT 54.0 ® (a) | ) HEL=ZEK-2
RV RYIURIR BECRAT728IT HBITr—L
: S 6 | AIEF 1:53.2 1-1-1-2 | 40.7| 71.4 | 5 464 | BER— (ER)
9 4| FATT7H—F 55.0 (1/2) o) | @R G1L—sy
RBATATv— BTARKy - (B) HBEaA-KL—>y3>BaE77
pos = = : s 4 | EIEFRK 1:53.6 11-11-11-10| 39.7 | 66.5 | 9 482 | EATET (BER)
1wl 6| 77>TAKZ—4 A51.0 2 1/2) (1) |BRESHI LY
RN—VIF4 B:LIILRRALAL J—HrTr—L
: ¢ s 6 | SHEA 2:00.9 5-5-9-11 | 47.1| 32.2 | 2 434 | AEHN (RR)
1118111 T KAV TIVINT 55.0 (514 2 i&ﬁg’ﬂ%
L ZFAd=I K B0y Fv— J=HrTy—LA
@ 21 L
£ 50.3-38.0
NA>ZA L | 12.4-11.5-12.3-12.1-11.9-12.3-12.9-12.4-12.7
® I—F—@EBIERL
13—7+— 4,5(3,9)11,10-(2,7) (1,8)6
2a=5F= 4,5(3,9)-(10,11)7,2,8,1,6
== 4,5,3(10,9) (2,7)8-(1,11)6
43—+ — (4,%5,7)10(2,3,9,8)-1-6=11
[ N5
B 2 330M 714K 1-2 1,150H e E 1-2 3,670/ JEE 1-2-7 9,030
# B 2 180M 2-7 600 B = 1-2 3,700M 3EE 2-1-7 36,490
1 570 1-7 2,780 B H 2-1 5,710M
7 270M

ABRICOVTHRTEEERROODE, THEB LS,




